
BVB52T4S

BVB52T4S

No. Part Name Qty No. Part Name Qty
1 Glass door 1 31 Galvanized screw(ST4*10) 2
2 Handle 1 32 PCB box 1
3 Stainless screw(M4*30) 2 33 PCB 1
4 Gasket 1 34 PCB cover 1
5 Bottom grille 1 35 Compressor cover jump rin 1
6 Cross screws(ST5*14) 8 36 Compressor cover 1
7 Bottom hinge 1 37 PTC starter 1
8 Temperature sensor cover 1 38 Overload protector 1
9 Adjustable leg 2 39 Compressor shock absorber 4
10 Wire shelf 5 40 Compressor support column 4
11 Shelf trim 5 41 Compressor fixed washer 4
12 Black screw(ST4*10) 10 42 Compressor fixed screw 4
13 Black screw(ST4*10) 6 43 Compressor 1
14 Black screw(ST5*16) 4 44 Compressor bottom cover 1
15 Fridge motor fan 1 45 Galvanized screw(M5*16) 4
16 Air panel 1 46 Power line protector 1
17 Display cover 1 47 Power line panel 1
18 Display board 1 48 Power line 1



19 Light holder 1 49 Stainless screw(M5X10) 1
20 LED light 1 50 Ground lead 1
21 Light cover 1 51 Ground lead screw 2
22 Up hinge cover 1 52 Condenser fan support cov 1
23 Galvanized screw(M5*16) 2 53 Condenser fan support 1
24 Up hinge 1 54 Condenser fan 1
25 Body cover 3 55 Body bottom cover 1
26 Foam body 1 56 Black air panel 2
27 Back cover 1 57 Outside Condenser 1
28 Galvanized screw(ST4*10) 4 58 Condenser fix 2
29 Drip trim 1 59 Galvanized screw(ST4.2*19 2
30 Hanging button 2


